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cSvy 2t (A oKL HER) 23 230 23 276 23 276 23 276 23 276 23 161 0 0 0 0 0 0 0 0

Z22TL—=voL—> 16t /@ 23 242 23 276 23 276 23 276 23 276 30 168 0 0 0 0 0 0 0 0

Qv y—rRyTE 45m°/h 0 0 0 0 0 0 2 24 2 144 2 132 0 0 0 0 0 0 0 0

S5IFL—vh L=y 16t 7 0 0 0 0 0 0 10 10 0 0 29 121 23 23 0 0 0 0 0 0

tSvY (D L—UEEH) 4t 0 0 0 0 0 0 0 0 0 0 23 115 23 23 0 0 0 0 0 0

oY) 0. 4m° 0 0 0 0 0 0 0 0 0 0 3 3 0 0 0 0 0 0 0 0

wEHO—5 0.8-1.1t 0 0 0 0 0 0 0 0 0 0 3 3 0 0 0 0 0 0 0 0

BT L EPAYE) 50-60kg 0 0 0 0 0 0 0 0 0 0 2 2 0 0 0 0 0 0 0 0

avyY—brRYJE 90-110m’/h 0 0 0 0 0 0 0 0 0 0 0 0 2 2 0 0 0 0 0 0

Ao ) — FRATHE .8-1.2m°/h 0 0 0 0 0 0 0 0 0 0 0 0 5 5 0 0 0 0 0 0

Y EHESE] FSvooL—Y 5t 0 0 0 0 0 0 0 0 0 0 0 0 3 3 0 0 0 0 0 0

[€3-1=)] (NATM) Z22FL—=vhL—> 5t 0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0 0 0 0 0

FZ 0-100kg 0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0 0 0 0 0

REITL—H 300kg 0 0 0 0 23 46 23 92 0 0 23 23 0 0 0 0 0 0 0 0

Ny Gk . 45m 0 0 0 0 23 46 23 92 0 0 23 23 0 0 0 0 0 0 0 0

A4 VIR—+I AVTHRERE (FURLTERA) |20m 0 0 0 0 46 92 46 184 0 0 46 46 0 0 0 0 0 0 0 0

272TL—=voL—> 6t/ 0 0 0 0 1 1 1 1 0 0 1 1 0 0 0 0 0 0 0 0

SIFL—viL—> 5t 0 0 0 0 7 7 4 4 0 0 7 7 0 0 0 0 0 0 0 0

TYRET Ny ok . 6m 23 230 23 276 23 276 23 276 23 276 23 161 0 0 0 0 0 0 0 0

avyY—brRYTE 0-110m°/h 0 0 0 0 0 0 0 0 0 0 29 58 29 261 0 0 0 0 0 0

AT 272TL—=voL—> 25t/ 0 0 0 0 0 0 0 0 0 0 10 20 10 90 0 0 0 0 0 0

SIFL—vhL—> 16tH 0 0 0 0 0 0 0 0 0 0 0 0 23 84 0 0 0 0 0 0

FSvh (D L—TEER) 4t 0 0 0 0 0 0 0 0 0 0 0 0 23 84 0 0 0 0 0 0

MR L—Y 20t B 0 0 0 0 0 0 0 0 0 0 0 0 22 66 22 10 0 0 0 0

N 5 S2FL—voL—y 50t/ 0 0 0 0 0 0 0 0 0 0 0 0 4 4 4 4 0 0 0 0

A4 Foz(BET 27TL—=voL—> 25t/ 0 0 0 0 0 0 0 0 0 0 0 0 4 4 4 4 0 0 0 0

RFHAE GW BB 2R 5% 0 0 0 0 0 0 0 0 0 0 0 0 22 66 22 110 0 0 0 0

SIFL—vhL—> 25t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 66 0 0 0 0

S9FL—voL—Y 60t B 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 66 0 0 0 0

ysa—59L—> 4.9t% 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 66 0 0 0 0

SH{ERXE 9m 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 66 0 0 0 0

3 9 bEHEE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 2 4 32 0 0

R X EHXE (384) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 66 22 176 0 0

Fe =n RSFARE AR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 9 21 9 I 0 0

RIS T Z2FL—voL—> 400t /& 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 16 64 0 0

S2FL—voL—Y 250t/ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 50 0 0

S9FL—voL—Y 16t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 16 64 0 0

RFAE F—JIIERE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 44 44 0 0

RFAE BHA 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 66 308 44 88

B¥mAE MBSIERE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 8 10 8 28

REAE fIEBRHAEE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 10 10
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BEEBOSH

- - " . . 158 248 38 A% H 58 6FH 158 8% H 9% H 1068

BRREH/A wes/w BRRXE#/A wew/F BRXEH/A wnesm/F RREH/A wen/F BRE#/A wen/F RREH/A BEB/E BXEH/A wen/E HAEH/A neaw/E BRXEH/A wet/g BXEH/A weaw/E

Sy (O L—VikiER) 4t 23 212 23 276 23 276 23 276 23 92 0 0 4 4 0 0 0 0 0 0

E—H—FL—% 3.1m 2 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

o—ro—35 10-12t 3 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

24 v0—35 8-20t 3 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

FRIFZILE T4 =y v — 2. 4-6m 1 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

s0—39L—> 55t /M 21 21 0 0 0 0 0 0 0 0 0 0 14 14 0 0 0 0 0 0

NN E % RA—NRK - 3T—L 23R4y FFYTEEE  150keiBiR 23 115 46 529 46 552 46 552 23 92 0 0 0 0 0 0 0 0 0 0

[N % RA—st - 27— L - 18Ry R EY IS EE  150kelEh 23 92 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

XBIL—H 1300kg. 23 207 46 529 46 552 46 552 23 92 0 0 4 4 0 0 0 0 0 0

S8 aN)L 1.5m° 23 92 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

wALO—4 3.0n° 23 115 46 529 46 552 46 552 23 92 0 0 0 0 0 0 0 0 0 0

HEl. XRT Ny IERY 0. 8m° 23 115 46 529 46 552 46 552 23 92 0 0 4 4 0 0 0 0 0 0

HoTb5vy (bR THER) 10t 69 276 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

HoFb5vy (bYW THER) 23t 0 0 115 1265 115 1380 115 1380 0 0 0 0 0 0 0 0 0 0 0 0

RYREH 200/220kVA 5 25 5 60 5 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0

2V FFHBWE (P RATHEA) [200° 69 345 69 828 69 828 69 828 69 276 0 0 0 0 0 0 0 0 0 0

S2FLb—=voL—> 25t/ 2 3 0 0 0 0 0 0 1 1 0 0 0 0 0 0 0 0 0 0

29— FR{FHE 8-22 m3#h 23 207 46 529 46 552 46 552 23 92 0 0 0 0 0 0 0 0 0 0

Sy SXY—F 4. 4n° 69 529 138 1587 138 1656 138 1656 69 276 0 0 0 0 0 0 0 0 0 0

Ny Fr—TF5 15m°/h  BHEHARE H 10 (30t) 23 207 46 529 46 552 46 552 23 92 0 0 0 0 0 0 0 0 0 0

rS vy 2t (ELNBIEABERE) 23 207 46 529 46 552 46 552 23 92 0 0 0 0 0 0 0 0 0 0

rSvy 2t (A IR HER) 23 207 46 529 46 552 46 552 23 92 0 0 0 0 0 0 0 0 0 0

SI72FL—vIL—> 16t 23 219 23 276 23 276 23 276 30 99 0 0 0 0 0 0 0 0 0 0

avoy—rRYJHE 45m°/h 0 0 12 60 24 207 24 288 24 96 0 0 0 0 0 0 0 0 0 0

S72TL—vL—2 16t5 0 0 10 10 10 10 0 0 29 58 0 0 0 0 0 0 0 0 0 0

bSvy (D L—EER) 4t 0 0 0 0 0 0 0 0 23 46 0 0 0 0 0 0 0 0 0 0

Ny GERY 0. 4n° 0 0 0 0 0 0 0 0 3 3 0 0 0 0 0 0 0 0 0 0

EHO—35 0.8-1.1t 0 0 0 0 0 0 0 0 3 3 0 0 0 0 0 0 0 0 0 0

BI E = YAVE ] 50-60kg 0 0 0 0 0 0 0 0 2 2 0 0 0 0 0 0 0 0 0 0

z JEBRHI avoy—riRLJHE 90-110m°/h 0 0 0 0 0 0 0 0 2 2 0 0 0 0 0 0 0 0 0 0

[€13-1=D] (NATM) oV — R 0.8-1.2m°/h 0 0 0 0 0 0 0 0 5 5 0 0 0 0 0 0 0 0 0 0

rSvooL—2 15t/ 0 0 0 0 0 0 0 0 3 3 0 0 0 0 0 0 0 0 0 0

S72TL—vL—> 25t/ 0 0 0 0 0 0 0 0 1 1 0 0 0 0 0 0 0 0 0 0

2% 60-100kg 0 0 0 0 0 0 0 0 1 1 0 0 0 0 0 0 0 0 0 0

FTYMET Ny YERY 1.6m 23 207 46 529 46 552 46 552 23 92 0 0 0 0 0 0 0 0 0 0

avoy—trRUTHE 90-110m°/h 0 0 0 0 0 0 0 0 58 406 58 232 0 0 0 0 0 0 0 0

AT S2FLb—voL—> 25t/ 0 0 0 0 0 0 0 0 20 140 20 80 0 0 0 0 0 0 0 0

S2FLb—voL—> 16t/ 0 0 0 0 0 0 0 0 46 299 46 184 0 0 0 0 0 0 0 0

bSvy (D L—UEER) 4t 0 0 0 0 0 0 0 0 46 299 46 184 0 0 0 0 0 0 0 0

MEIL—2 20t A 0 0 0 0 0 0 0 0 0 0 44 352 0 0 0 0 0 0 0 0

S72FTL—=—voL—2 50t/ 0 0 0 0 0 0 0 0 0 0 8 16 0 0 0 0 0 0 0 0

N - SI7FL—vhL—> 25tH 0 0 0 0 0 0 0 0 0 0 8 16 0 0 0 0 0 0 0 0

AA KDz ABET RTAE GWiBHE 225 0 0 0 0 0 0 0 0 0 0 44 352 0 0 0 0 0 0 0 0

S2FL—yHL—> 16t5H 0 0 0 0 0 0 0 0 0 0 46 368 0 0 0 0 0 0 0 0

bFSvY (U L—2EEN) 4t 0 0 0 0 0 0 0 0 0 0 46 368 0 0 0 0 0 0 0 0

SIFL—voL—Y 25t 5 0 0 0 0 0 0 0 0 0 0 0 0 22 66 0 0 0 0 0 0

ZI2FL=v L= 60t/ 0 0 0 0 0 0 0 0 0 0 0 0 22 66 0 0 0 0 0 0

sA—=39L—> 4.9tH 0 0 0 0 0 0 0 0 0 0 0 0 22 66 0 0 0 0 0 0

B RS 9m 0 0 0 0 0 0 0 0 0 0 0 0 22 66 0 0 0 0 0 0

ESFHRE A hEWEE 0 0 0 0 0 0 0 0 0 0 0 0 4 32 4 48 4 12 0 0

EFHRE VERXBE#%E (384) 0 0 0 0 0 0 0 0 0 0 0 0 22 176 22 264 22 66 0 0

- - ESFHRE SRA 0 0 0 0 0 0 0 0 0 0 0 0 9 12 9 108 9 27 0 0

L LR SI2FL—vioL—> 400t 0 0 0 0 0 0 0 0 0 0 0 0 16 48 16 16 16 64 0 0

ZI2FL=v L= 250t /F 0 0 0 0 0 0 0 0 0 0 0 0 4 16 24 50 22 50 0 0

ZI2FL=v L= 16t% 0 0 0 0 0 0 0 0 0 0 0 0 16 48 16 16 16 64 0 0

RFRE r—JIVERE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 44 44 44 44 0 0

REAE BEHA 0 0 0 0 0 0 0 0 0 0 0 0 66 132 88 594 66 396 0 0

{EFHRE INRERT )4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 10 36 12 52

ESFHRE BRI 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 20 20
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£3-4-1(1) BEMRUBBOERICAVSIERDOETER
- [ 2% H 3EH [ 5% H ] ] 8EH (] 1058 [T 12 H 132 H
BXE%/A BER/E | BAEGH/A | KEWEF | RXEH/A | #Rell/F | BREGH/A | KER/EF | BAGH/A | #Eel/F | RREE/A | BE¥/EF | RAGH/A | BER/EF | BXEH/A | #el/F | BXE%/A BER/E | RAGH/A | KEH/EF | RXEH/A | BeB/F | RAGH/A | RER/EF | BAGH/A | #EH/EF
<ah%u> 60 163 4385 35102 4671 32432 4351 33942 8653 73573 7465 69549 8345 76665 7463 62979 6994 57874 7482 36780 89 397 145 218 0 0
<;E*Z*u> 0 0 60 131 3458 15845 4542 36861 3448 6711 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
<I$%ﬁﬁ§) 0 0 667 1718 696 2490 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
<3F%D) 0 0 60 163 4635 35082 12331 100188 9330 81924 7499 82245 6813 28445 1065 4492 52 448 161 644 1065 4380 3 9 0 0
(EXE,(%@) 0 0 0 0 186 1263 2196 12273 217 2604 445 1452 456 2855 88 350 66 66 0 0 0 0 0 0 0 0
@%Fm:;&) 0 0 0 0 2584 18187 0 0 0 0 896 4970 82 513 17 11 37 306 44 366 2 133 0 0 0 0
(3&%1:!) 0 0 767 7759 3024 24631 2894 28073 3030 32466 3029 30682 2724 15868 971 3918 971 3074 130 216 2 17 0 0 0 0
E W E @ & 60 163 5939 44873 19254 120930 26314 211337 24678 197278 19334 788898 18420 124346 9604 71850 8120 61768 7817 38006 1780 4927 148 227 0 0
s, o -— A 4=
£3-4-12) BEMRUHHEOERICAVIEMDETE
1875 148 248 3%H 458 548 648 148 858 LES=] 1048 (k=]
BRAEH/A | HRER/F | RASH/A | KER/F | RREH/A | REWEF | BRASH/A | RER/EF | BREH/A | REWEF | RREH/A | KREWE | BREH/A | KER/F | RXEH/A | REWE | BAEH/A | KER/F | BREH/A | Re/F | RRER/A | Rew/E

(gp*g,‘-l:]) 996 10058 3906 20649 4021 47457 3985 47810 4231 49772 4262 14225 86 271 132 358 12 27 4 0 0

(3'5%13) 986 10003 2626 23317 2996 33662 2982 35784 2539 11245 4n 3339 43 173 33 236 130 187 5 0 0

(?ﬁ%Jjﬁ?Q) 3873 23329 0 0 0 0 896 4970 82 513 17 1 37 306 44 370 24 129 0 0 0

& W = & & &t 5855 43390 6532 43966 7017 81119 7863 88564 6852 61530 4750 17675 166 156 209 964 166 343 9 0 0
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&34-13) BEMRUBHOERICAVIERDETEH
87 148 2% R 3EH A% R 548 648 %8 8% H 9% H 108
RAGH/A | REB/EF | RREH/A | REB/E | BREH/A | REB/E | BRXEH/A | #RER/E | RXEH/A | #RE8/E | RXEM/A | REWE | RREH/A | REH/E | ZRAEH/A | REWE | RAEH/A | REW/E | RAEH/A | Bel/F
(k >K7~}l/) 2599 26133 2965 34363 2982 35660 3012 31046 470 5640 47 4907 402 2886 130 351 2 16 1 5
(_'él_ﬁ*g) 1384 8620 201 2369 158 1645 532 1419 il 446 128 133 0 0 0 0 0 0 0 0
=) =
(k VM*"/) 2589 9538 0 0 0 0 0 0 0 0 0 0 120 219 2 5 0 0 0 0
(—%—Q*&) 1384 10325 794 6593 207 2484 207 1973 141 1692 532 2128 87 445 155 790 0 0 0 0
=) =
(choﬁéi’é) 545 4831 545 5746 678 5116 548 4404 275 2102 445 859 445 677 2 4 n 492 0 0
E % B O & & 8501 59447 4505 49071 4025 44905 4299 38842 957 9880 1576 8027 1054 4221 289 1150 73 508 1 5
K3-4-14) BEMRUBHOERICAVSIERDETER
187 148 248 3EH 45 R 5% H 68 %8 8 H 9FH 108
SAEH/A | REWE | RRXEYA | #REWE | RREYWA | BEWE | RAEYWA | BEWE | RAEYA | BEWE | BREYA | BEWE | BREMA | BER/E | BRER/A | BEWE | BRERA | KRER/E | BRER/A | BER/E
(&248) 1384 9435 788 6521 201 2412 158 1715 532 2244 n 407 199 649 1 2 0 0 0 0
=] =
(A'El_i*g) 1384 9619 788 5347 201 2009 532 2395 109 122 154 330 130 134 0 0 0 0 0 0
=] =
(1%%?5&; Ei2) 0 0 0 0 4028 29747 3544 13944 268 2558 32 226 88 446 101 817 13 344 2 2
(%SR) 6698 37996 4383 17319 124 5987 385 2469 561 2754 149 508 114 1081 127 875 15 162 0 0
E O B @ & &t 9466 57050 5959 29187 5154 40155 4619 20523 1470 1678 406 1471 531 2310 229 1694 88 506 2 2
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£3-4-10) BEMRUBHOERIZAVSIERDETEH
e 14£8 24 H 3&H A% R 548 648 %8 8% H 9% H 1048
RREH/R | REB/E | RRXEH/A | REWEF | RRXEH/A | RER/F | RREE/A | #REW/E | BREH/A | REWE | RASH/A | REB/EF | RAEH/A | RER/E | BRREH/A | REW/E | RASH/A | RER/F | RXEH/A | REe/E
(3F“;TEI) 808 4 3552 29098 1770 21240 2138 23378 2172 26043 2200 11839 414 2208 128 324 130 206 1 5
(QF’;,*EI) 1529 9332 1797 21431 2184 24160 2170 25948 2902 16794 415 2554 13 17 130 232 2 9 1 5
(Ex\;‘“}%) 186 2142 2196 12463 445 1745 181 121 0 0 n 164 0 0 0 0 0 0 0 0
(k va*n/) 1053 5962 1820 18124 1937 22333 1937 23244 2898 28603 2435 16957 941 1924 33 207 144 420 1 4
E O F W & & 3576 24571 9365 81116 6336 69478 6426 132917 1972 71440 5121 31514 1368 4249 291 763 276 635 3 14
&3-4-1(6) BEMRUBHOERICAVIERDETER
187 148 248 3R 45 R 5% 8 6% H %8 85 H 9FH 108
SAEBH/A | REWEFE | RREH/A | REE | BREYA | REWE | BXEH/A BER/E | RREYWA | BEWE | BXEH/A | RER/EF | BREY/A | BEWE | RREY/A | REV/EFE | RREH/A | #ER/E | BKEYA | BEWE
(3';,;%']) 1086 11003 1084 13007 2299 18007 2667 29018 2653 31836 2918 27799 1354 11469 810 1818 131 335 3 9
(3F“.;TIII) 1086 11003 1084 13007 2299 17925 2667 28311 2653 31836 2653 19857 470 5436 414 2170 131 329 3 9
(3';,.;']) 2276 15813 4920 53778 5260 61350 5260 62766 2660 14566 828 8289 12 301 143 328 131 275 4 16
B O FE W & 4448 37819 7088 79792 9858 97282 10594 120095 7966 78238 6399 55945 1896 17206 1367 4316 393 939 10 34
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